Math 115
Spring 2017
Lecture 19

Use Special products to find

(1) 
$$(2x^{3} + y^{3})^{2}$$

(2)  $(3x^{5} - 8y^{3})^{2}$ 

(4)  $(4x^{3})^{2} = A^{2} + 2AB + B^{2}$ 

(5)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(6)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(7)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(8)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(9)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(1)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(2)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(3)  $(2x^{3})^{2} + 3x^{3} + y^{6}$ 

(4)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(5)  $(2x^{3})^{2} + 3x^{3} + y^{6}$ 

(6)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(7)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(8)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(9)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(1)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(2)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(1)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(2)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{3})^{2}$ 

(3)  $(2x^{3})^{2} + 3x^{3} + y^{6}$ 

(4)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{4})^{2}$ 

(5)  $(2x^{3})^{2} + 3x^{3} + y^{6}$ 

(6)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{4})^{4}$ 

(7)  $(2x^{3})^{2} + 2(2x^{4})(y^{3}) + (y^{4})^{4}$ 

(9)  $(2x^{3})^{2} + 2(2x^{4})(y^{4}) + (y^{4})^{4}$ 

(1)  $(2x^{3})^{2} + 2(2x^{4})(y^{4}) + (y^{4})^{4}$ 

(2)  $(2x^{3})^{2} + 2(2x^{4})(y^{4}) + (y^{4})^{4}$ 

(3)  $(2x^{3})^{2} + 3x^{3} + (y^{4})^{4}$ 

(4)  $(2x^{3})^{2} + 2(2x^{4})(y^{4}) + (y^{4})^{4}$ 

(5)  $(2x^{3})^{2} + 3x^{3} + (y^{4})^{2}$ 

(6)  $(2x^{3})^{2} + 2(2x^{4})(y^{4}) + (y^{4})^{4}$ 

(7)  $(2x^{3})^{2} + 2(2x^{4})(y^{4}) + (y^{4})^{4}$ 

(8)  $(2x^{3})^{2} + 2(2x^{4})(y^{4}) + (y^{4})^{4}$ 

(9)  $(2x^{3})^{2} + 2(2x^{4})(y^{4}) + (y^{4})^{4}$ 

(10)  $(2x^{3})^{2} + 2(2x^{4})(y^{4}) + (y^{4})^{4}$ 

(11)  $(2x^{4})^{2} + 2(2x^{4})^{4} + (y^{4})^{4}$ 

(12)  $(2x^{4})^{2} + 2(2x^{4})^{4} + (y^{4})^{4} + (y^{4})^{4}$ 

(13)  $(2x^{4})^{4} + 2x^{4} + 2x^{4} + (y^{4})^{4} + (y^{4})^{4} + (y^{4})^{4} +$ 

USE FORE method to multiply

$$(2x^2 - 3x + 5)(2x^2 + 3x - 5)$$
 $= 4x^4 + 6x^3 - 10x^2 - 6x^3 - 9x^2 + 15x$ 
 $+ 10x^2 + 15x - 25$ 

Polynomial with

 $= 4x^4 - 9x^2 + 30x - 25$ 

Four monomials

 $D=4$ 

L.C.=4

 $C=4$ 
 $C=4$ 

$$P = 0 + b + C$$

$$5x^{3} + x^{2} - 1$$

$$P = 0 + b + C$$

$$P = 2x^{3} - 5x^{2} + 3x^{3} + 4x^{2} + 1$$

$$P = 10x^{3}$$

$$P = 10x^{3}$$

$$P = 10x^{3}$$

$$P = (2x + 4)(5x^{3} + x^{2} - 1)$$

$$Q = (2x + 4)(5x^{3} + x^{2} - 1)$$

$$Q = (2x + 4)(5x^{3} + 2x^{2} - 2x + 20x^{3} + 4x^{2} - 4x^{2} + 2x^{3} + 4x^{2} - 4x^{2} + 2x^{3} + 4x^{2} - 4x^{2} + 2x^{3} + 4x^{2} - 2x + 4x^{2} + 4x$$

Divide 
$$\frac{\chi^{4} - 13\chi^{2} + 36}{\chi^{3} + 2\chi^{2} - 9\chi - 18}$$
 Be aware of missing terms  $\chi^{3} + 2\chi^{2} - 9\chi - 18$  Such as  $\chi^{3} \in \chi$ .

 $\chi^{4} - 2\chi^{3} - 13\chi^{2} + 0\chi + 36$   $\chi^{2} = \chi^{4}$ 
 $\chi^{4} = \chi^{4}$ 
 $\chi$ 

Class Quiz

1) Divide: 
$$\frac{25 \chi^5 - 15 \chi}{5 \chi^2}$$

2) Divide: 
$$\frac{2\chi^3 + 5\chi^2 - 3\chi - 4}{\chi - 1}$$

3 Simplify: 
$$(x + 5) - 10x$$

$$32\chi^{4} - 8\chi = \frac{8\chi(4\chi^{3} - 1)}{7}$$
GCF

$$25x^{4}y^{3} + 15x^{3}y^{4} - 10x^{2}y^{2}$$

$$= 5x^{2}y^{2} \left(5x^{2}y + 3xy^{2} - 2\right)$$
GCF

② Use grouping when factoring 4 or more terms.

$$3x^3 - 12x^2 + 15x - 60$$
 $= 3(x^3 - 4x^2 + 5x - 20)$ 

GCF  $x^2(x-4) + 5(x-4)$ 
 $= 3(x-4)(x^2+5)$ 

$$\frac{5x^{4} + 20x^{3} - 10x^{2} - 40x}{= 5x \left(x^{3} + 4x^{2} - 2x - 8\right)}$$

$$= \frac{5x \left(x^{3} + 4x^{2} - 2x - 8\right)}{x^{2}(x + 4) - 2(x + 4)}$$

$$= \frac{5x \left(x^{3} + 4x^{2} - 2x - 8\right)}{(x^{2} - 2)}$$

Factor 
$$2x^4 - 3x^3 - 5x^2$$

$$= \chi^2 (2\chi^2 - 3x - 5)$$

$$P = -10, S = -3$$

$$\chi^2 (x+1)(2x-5) - 10$$

$$2x^2 + 2x - 5x - 5$$

$$2x(x+1) - 5(x+1)$$

Factor Completely
$$3\chi^{5}y^{2} - \chi^{4}y^{2} - 10\chi^{3}y^{2}$$

$$= \chi^{3}y^{2}(3\chi^{2} - \chi - 10) \qquad 1,-30$$

$$2,-15$$

$$-30 \qquad S=-1 \qquad 5,-6$$

$$3\chi^{2} + 5\chi - 6\chi - 10$$

$$= \chi(3\chi + 5) - 2(3\chi + 5)$$

$$\chi^{3}y^{2}(3\chi + 5)(\chi - 2)$$

Special Factoring with Binomials:  

$$A^{2} + B^{2} = Prime$$

$$A^{2} - B^{2} = (A + B)(A - B)$$

$$A^{3} + B^{3} = (A + B)(A^{2} - AB + B^{2})$$

$$A^{3} - B^{3} = (A - B)(A^{2} + AB + B^{2})$$

Factor 
$$\chi^2 + 25 = \chi^2 + 5^2$$
  
Sum of two squs  
= Prime  
Factor  $36\chi^2 - 49 = (6\chi) - (7)$   
Difference of two squs  
=  $(6\chi + 7)(6\chi - 7)$   
Factor  $25\chi^2 - 81y^2 = (5\chi)^2 - (9y)^2$   
=  $(5\chi + 9y)(5\chi - 9y)$ 

Factor 72 
$$\chi^{4}y^{2}$$
 - 50  $\chi^{2}y^{4}$ 

Hint:

GCF First

=  $2\chi^{2}y^{2}(36\chi^{2} - 25y^{2})$ 

=  $2\chi^{2}y^{2}(6\chi - 5y)(6\chi + 5y)$ 
 $+9\chi^{4} - 144\chi^{2} = \chi^{2}(49\chi^{2} - 144)$ 

=  $\chi^{2}(7\chi + 12)(7\chi - 12)$ 

$$\chi^{3} + 125 = \chi^{3} + 5^{3}$$
Use  $A^{3} + 8^{3} = (\chi + 5)(\chi^{2} - 5\chi + 25)$ 

$$8\chi^{3} + 27 = (2\chi)^{3} + (3)^{3}$$

$$= (2\chi + 3)(4\chi^{2} - 6\chi + 9)$$

$$125\chi^{3} + 64y^{3} = (5\chi)^{3} + (4y)^{3}$$

$$= (5\chi + 4y)(25\chi^{2} - 20\chi + 16y^{2})$$

Factor Completely: Hint: GCF First

$$54 \times^{4}y^{2} + 2000 \times y^{5}$$

$$= 2 \times y^{2} (27)^{3} + 1000y^{3}$$

$$= 2 \times y^{2} (3) + (10y)$$

$$= 2 \times y^{2} (3) + (10y) (9)^{2} - 30 \times y + 100y^{2}$$

$$= 2 \times y^{2} (3) + (10y) (9)^{2} - 30 \times y + 100y^{2}$$

Factor completely: 
$$\chi^{3} - 2^{3}$$
  
 $\chi'' - 8\chi = \chi(\chi^{3} - 8)$   
 $= \chi(\chi - 2)(\chi^{2} + 2\chi + 4)$   
 $= \chi''(1000\chi^{3} - 27) = \chi''(10\chi - 3)(100\chi^{2} + 30\chi + 9)$   
 $(10\chi)^{3} - 3^{3}$ 

Special Factoring with Perfect-Sqr  

$$A^2 + 2AB + B^2 = (A + B)^2$$
  
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$   
 $A^2 + 10x + 25 = (x + 5)^2$ 

$$36x^{2} + 132xy + 121y^{2} = 2$$

$$(6x + 11y)$$
Twice
Product
$$66xy$$

$$18x^{2} + 60xy + 50y^{2}$$

$$= 2[9x^{2} + 30xy + 25y^{2}] + 2(3x + 5y)$$

$$A^{2} - 2AB + B^{2} = (A - B)^{2}$$

Factor
 $\chi^{2} - 20\chi + 100 = (\chi - 10)^{2}$ 
 $4\chi^{2} - 12\chi + 9 = (2\chi - 3)^{2}$ 
 $64\chi^{2} - 112\chi + 49y^{2} = (8\chi - 7y)^{2}$ 

Due Monday SG 15. Exam II! Next Thursday